® y=-2x



ol
I
o
<k

® y=2x-2

@ y=2x+4

®y=-2x+2

® y=-2x-2

@ y=2x-4






YA
\1
(0)

I
,_.,_mo
,.ﬂ_-wo
T o
7 B
m._,ﬂ
Moo
" %
g oF
o
o4l
TS
~ 4
ks
q{

@ (3, -1)

® (-1, 3)

@ (-3, 1)

® (1, -1)

® (1, -3)



Bl 22129} Q° 4x}2 0] ghe 780 Y, Bl 3220} ¢ 222 0]
L 600 Lo T v, AW & At 2u & A2 e oot

el 7}
@ 150 ¢ @ 250 Y ® 2709

@ 370 @ 4009



6.

@ 371 ® 574 @ 774 ® 9 7}

@D 17



1.5(2 - 3x) < 3.5(1 - x)

@ 1 B 2

3 0



8.

a>0 %2, xof tiet ARFA] ax

1

al

@ x>--
a

D x<

©@ ©®

=~

1
x> -
a

si7H it



A B4l 5]Fol= 4000 Y, £3]+= 7000 Yol F = o] k. o
g s7lol= e 1000 YA, F3]= 500 Y4 dlZ39thd §]7lo]
o] dlZefjo] B5]9] of| Fof it wholz]= A2 H /Y FHE|QIZE?

® 471 @ 570 ® 671

@ 771¢ G 871






11. o5 5 x 2y of Bk Aoz el o, dxpet4=r} ofd A

1=M?

@ sfFefl x A 10 d AFHS o) A= £y

@ 200 9% ADE x | AL 5,000 P& WS wjo] AAEE
y

® wtz]Eo] xem 9 ¥ = y em

@ 7t29] Zo|7}t x em o)A, A|22] Zo|7Fy em 1 HWol7t
20cm? 91 AAHZ

® 29A x Z AUy HO ARSE




4km 7}

19 A& A% skm 2 230k Z27H W e =H] 2% 6 A7

4

=S
L

o), £t t= Al 3km 2 A3, YL oo

~
o

ol
—

Plo

?

1_:'—
g

4w 42 A

sArt &

B

55
ka

©)



13. A AHNA 3000 mEBo]A B A A7A] Z4 wf), A-&ol= 1 Eof 100
m 9] £3 02 Foj7ltprt gofle 1 8ol 50 m 9] &3 02 ZHojA

40 2 olHfell 2Fsteal et Holgt A2l siFEE AS B
IEH?

@® 300 m ® 500 m ® 1000 m

@ 2000 m 3 2500 m



14.

HuldoA MAg 7ol o), A7t 208 7kAE 5 2029
A7t Q. o] Aol f7u7kA] Hof7bA ofel AT fE Ab Al gt
e e 24 300m o], ofo] AT S Abed| 520] Rl
etet. olul, 7= E v E oA 2 m o) W] el glofof =7t
(&, Bul'd Srolli= ofe]2a e vk 3= §itt)

O 2000m @ 2100m @ 2200m

@ 2250m 3 2350m



CAD\ [l

/3

By



16.

o, S

2

=

> g

|t Uoll
i A

]_

[¢]

y=ax+b 2 Tefx7} 24 3x 4+ 3y -2 =0 9] 1o}
A x4 2y+4 =03y & SJolA] Whdh o of, A4

Fa+b 9§27



17. 3x-8<—(2x+1), r+3 _x-

1 3
1 =50 0.6(1-2x) < 0.3x+1.2= Yol =
£o] A4

D o @ 170 3 271 @ 370 3 471



18.

oE 1o
o
rr oot

?

® ©
!
~
-
A
|

[N}
IA
<
IA
W~

Sy = —x4+29 x9 Fo] -4 < x <4 o,



fx—i- —4 2 i

> (0.2)

5 (1)

A= Hol of

bl



1

@ x=6
® y=6

— A | e



